o}
I

L

m4 & E

BERFEOFEMREFICHDLEMBHEH (ZTD2)

M ZE R

8 B #“EXEFRBHEERE
g B IRHERBHRERE
HEZES 18-01-22-009



BEANRE BEREDEABRH AN SRR NLEBHED2)
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EERE 6, 695, 497
B h % 6, 695, 497
B h % 6, 695, 497
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STEER 386, 800
1 StEERE 1.00 386, 800 386, 800
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m
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m
B h % 5,732,274
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B
6 MR DR 1.00 940, 500 940, 500
=
7T EIStEOER 1.00 940, 500 940, 500
=
8 HiiTEREDIESY 1.00 504, 600 504, 600
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9 2ARERANEH 1.00 663, 600 663, 600
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% g R - KSR Bifr B 2 B i & B W =
BRI 6,208,100 + 487,397 6, 695, 497
EEAGE 6, 208, 100
EERE 487,397
T DR 6,208,100 x 53.85% ( 35% + (1 — 35%) ) 3,343, 061
BRI 6,695,497 + 3,343,061 10, 038, 558
—REEES 10,038,558 x 53.85% ( 35% <+ (1 — 35%) ) — 4,321 5,401, 442
KBS 10,038, 558 + 5, 401, 442 15, 440, 000
HEREELE 15,440,000 x 10.00% 1,544,000
RHEEH 15,440,000 + 1,544, 000 16, 984, 000
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HEnE
A 1.00 66, 900. 00 66, 900
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
& Hi 1YE%HeH - 1.00K 386, 800. 00 386, 800
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2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
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2 b g - BIRTE By = B O ® # " =
HEnE
A 1.00 66, 900. 00 66, 900
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 1YEZHEH - 1.00[E 176, 700. 00 176, 700
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A 1.50 51, 200. 00 76, 800
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A 2.00 58, 600. 00 117, 200
AR (A)
A 2.00 51, 200. 00 102, 400
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FEHRAR (F%ET)
A 4.50 58, 600. 00 263, 700
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A 4.50 51, 200. 00 230, 400
HEm (B)
A 6. 00 41, 600. 00 249, 600
AR (C)
A 6. 00 32, 800. 00 196, 800
& Hi 1E%HeH - 1.00K 940, 500. 00 940, 500
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FEHRAR (F%ET)
A 4.50 58, 600. 00 263, 700
AR (A)
A 4.50 51, 200. 00 230, 400
HEm (B)
A 6. 00 41, 600. 00 249, 600
AR (C)
A 6. 00 32, 800. 00 196, 800
& Hi 1YE%HeH - 1.00K 940, 500. 00 940, 500
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2% HiTEmREDRE 14y
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 3.00 58, 600. 00 175, 800
AR (A)
A 4.50 51, 200. 00 230, 400
AR (C)
A 3.00 32, 800. 00 98, 400
& Hi 1E%HeH - 1.00K 504, 600. 00 504, 600
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2 b g - BIRTE By = B Ol ® # " =
AR (A)
A 4.50 51, 200. 00 230, 400
HEm (B)
A 4.50 41, 600. 00 187, 200
AR (C)
A 7.50 32, 800. 00 246, 000
& Hi 1E%HeH - 1.00K 663, 600. 00 663, 600
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A 3.00 58, 600. 00 175, 800
AR (A)
A 4.50 51, 200. 00 230, 400
AR (C)
A 3.00 32, 800. 00 98, 400
& Hi 1YE%HeH - 1.00K 504, 600. 00 504, 600
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F{EHRAR (F%ET)
A 3.00 58, 600. 00 175, 800
AR (A)
A 3.00 51, 200. 00 153, 600
e (B)
A 4.00 41, 600. 00 166, 400
AR (C)
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FEHRAR (F%ET)
A 3.00 58, 600. 00 175, 800
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FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
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A 1.00 51, 200. 00 51,200
& Hi 1YE%HeH - 1.00K 139, 100. 00 139, 100
&S 14
£ EHBTERBEEER 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
e (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82,000
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